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BB Tl thARE % 5%+ 10000 K
H e LTE 5 BT 100 K
REF N[ % BT 100 2K
THUK Ak 5 BF 100 K
5K R IR 5% B 100 K
FhE% |y 5 B 100 K
RUR Il =y 5 B 100 K
X1 5% R4 5 B 100 K
ZEih ZOAKSS 5 B 100 K
pE N[ % BT 100 K
YEREYR Il =y 5% B 100 K
PRR F |y 5 B 100 K
B IE Al %) 5% B 100 K
VKT ks % BT 100 K
5= ks % BT 110 k£
X1 & b 5 %7 1500 K
XA b 5 %7 1500 kK
& Bl ey 5 BT 200 K
X A 5 BT 200 K
Wi (SR 5 BT 200 K
B i HRT % BT 200 K
T3 W ERX L2 B 400 K
R ZH 8 |y 5 B 400 K
blialiahEs Il =y 5 B 400 K
XII1EAs Il =y 5% B 400 K
TR Il =y 5 B 400 K
3% b 5 B 400 K
FE IRy 5 BT 400 K
FIMIE oI % BT 400 K
B FLAR |y 5 B 400 K
FMeim LTE 5 BT 400 K
R AK A Il =y 5 T 400 KA
Tt 5 R4 5 BT 400 KA
FihiH (<) 5 T 400 KA
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YERE S ks % B 5000 %
K RS 5 BF 800 K
R EY)2 N[ 5% J - 800 K
1| FE b 5 BF 800 K
HER (<) 5 P 7 800 K
X #R N[ % P 7 800 K
LN Il =y 5 %7 800 K
Bkt |y 5 %7 800 K
DRLESS ks % 5 -F 800 K
35} ks % BTt
EasiLE ks % BTt
T—T Il =y 5% BFArte
& S = GRS 5 B HEER
(ZF Sy AR % 5 FHEEk
HER TE R EEX % 5 FHEEk
ZIER b 5 B HEER
Wrva ML 5 B HEER
fHRE B % 5T HEEk
S FT iR Ak % 5 FHEEk
IR Ty % 5 Ak
o5 ks % 5 FHEEk
NG ks % 5T HEEk
JEREDR REET % B AR
pyIE=3L] i ZRA % 5T HEEk
X P ks % 5T HEEk
Tk ks % 57 HEEk
S iy I ARE 5 B Rk
HET ks % 5 FHEEk
SR ks % 5 Ak
epEs)iiL ks % 5 FHEEk
AR ET ks % 5 FHEEk
E ks % 5 FHEEk
ZEMA ks % 5 FHEEk
PRIE FPTH 5 B HEER
W 5 R 5 B HEER
DA E0Ni % 5T HEEk
VLN ks % 5T HEEk
il = ks % 57 HEEk
X5 AR IPIESY % 5T HEEk
B %) 5 B HEER
5T IE B 5 B HEEK
TER ks % 5 FHEEk
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2 ELH ks % 5Bk
R/l ks % 5T ek
XN e R4 % 5 FHIEK
= B ks % BF=Rpkix
TR ks % BF =Rpkix
T ks % BF =Rpkix
ZEERA B % B =2z
(ERSVN g % 5Tk
F¥IE B R 5 By
L R ES ilEaES) % 7Bz
3R B B 5 Bt
ZERRET B 5 Bt
A R, ks % Bt
BT ks % Bt
ZE ot TH A E X % Rl
R ks % B8t

T I8 R i 1 10000 %
JE 2 4] IN=EEy i 21 100 K
X B |y % 21100 K
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IE 55 1% |y % LT 100 KA
i I [) 7 21 100 KA
INRE R4 % 1 1500 K
PALES Il =y % 71 1500 K
Hemen] R4 % 41 1500 K

F MIE i 41 1500 K
HOEN |y i 1 1500 K

NI I &RE B2 11 1500 K

i AN % 21200 K

Fk vk Il =y % 21 200 K
SRR |y % 21 200 K
& e |y % 71200 K
ALY |y % 21200 K
FHIH T B AR H 1R X % 21 400 K
AR b i 21 400 K
BN 1IFR % 21 400 K
Pt thARE B8 ¥ 400 K
L S % 21 400 K

2B |y % 2 F 400 2K
FhEsR |y % 2 F 400 2K
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TR Il =y i 21 400 kK
R/ Il =y % 2 F 400 K
ERE b S 2 F 400 2K
i1 EAn b 'y LT 400 KA
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i b % 47 5000 K35
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RE ks E’e LTIk

fawsH ks B8 LT hrkE
2 ks E’8 LFHEK

FH By i N[ 7 = pkin
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